


GMAT STRATEGY/TIPS 

• DO NOT assume that a number is an integer unless explicitly stated in the problem or if the object of a problem has a physical restriction of being 
divided (such as votes, cards, pencils etc.)

‐ Example: if p < q and p < r, is pqr < p? 

Statement (1): pq < 0 

Statement (2): pr < 0 

 Statement (1) INSUFFICIENT: We learn from this statement that either p or q is negative, but since we know from the question that p < q, pmust 
be negative. To determine whether pqr < p, let's test values for p, q, and r. Our test values must meet only 2 conditions: pmust be negative and q
must be positive.  However, r could be either positive or negative, and hence, the product could be either negative  (may or may not be less than 
p) or positive (greater than p)

 Statement (2) INSUFFICIENT: We learn from this statement that either p or r is negative, but since we know from the question that p < r, pmust 
be negative and r must be positive. However, q could be either positive or negative. 

 If we look at both statements together, we know that p is negative and that both q and r are positive. To determine whether pqr < p, let's test 
values for p, q, and r. Our test values must meet 3 conditions: pmust be negative, qmust be positive, and rmust be positive. For instance, if p = ‐
2 , q = 10, r = 5; pqr = ‐100, which is less than p. Taking another example, if p = ‐2 , q = 7, r = 4; pqr = ‐56, which is also less than p. Therefore, at 
first glance, it may appear that we will always get a "YES" answer. But don't forget to test out fractional (decimal) values as well. The problem 
never specifies that p, q, and rmust be integers. If p = ‐2, q = 0 3 and r = 0.4, pqr = ‐0.24, which is NOT less than p. Hence, the correct answer is E 
– Both statements together are insufficient 

• GMAT can also hide POSITIVE CONSTRAINTS. Sides of a square, number of votes, etc. will always be positive. When you have a positive constraint, you 
can:

– Eliminate negative solutions from a quadratic function

– Multiply or divide an inequality by a variable

– Cross‐multiply inequalities: x/y < y/x  x² < y²

– Change  an inequality sign for reciprocals: x<y; 1/x > 1/y

• DO NOT ASSUME THE SIGN OF A VARIABLE

‐ Example: Is T/S > F/G?

(1) T < S

(2) F > G

If one assumes the signs for all four variables to be positive, then T/S (an improper fraction) is NOT greater than F/G (an improper fraction). 
However, if negative signs are taken into account, we cannot conclusively ascertain whether T/S > F/G 

GMAT STRATEGY/TIPS 

VERY IMPORTANT !! 

STATEMENT IMPLICATION

xy > 0 x and y are both positive OR both negative

xy < 0 x and y have different signs (one positive, one negative)

x2 – x < 0  x2 < x, so 0 < x < 1 (i.e., x is a positive fraction) 

x2 > x x is negative, or x > 1 (i.e., x cannot be equal to 0 or 1)

a2b3 < 0  b < 0  (since  a2 will always be positive). However, it is important to note that we cannot determine the sign of “a” based 
on this inequality as an even exponent masks the sign of the base 

Sum of 2 prime numbers is odd
Product of x prime numbers is even

One of the prime numbers has to be 2 

x is not a positive number This means that x can either be negative or zero

x2 is a positive number x could be either positive or negative. The only deduction you can conclusively make is that x is not equal to zero

| x | = x  x is greater than or equal to zero . If |X| = ‐ X, then X has to be either negative or zero because |X| will always be 
positive 

n3  < n2 n3 will be smaller than n2 if n is either a negative number or a positive fraction (i.e., between 1 and 0)

Is x > 0?  Is x positive? 

(xy)2 = xy (xy)2 – xy = 0 ; xy (xy – 1) = 0 ; So xy = 0 or 1 
• If xy = 0, either x or y (or both) must be zero
• If xy = 1, x and y are reciprocals of one another, x =1 and y =1 or x = ‐1 and y = ‐1

x2  > y 
x < y2 

Does not necessarily imply that x > y or x < y
• Be very careful when dealing with exponents, particularly even ones, as they mask the sign of the base which could 

be negative



GMAT STRATEGY/TIPS 

VERY IMPORTANT !! 

STATEMENT IMPLICATION

a and b are integers, and a ≠ b, is |a|b > 0,  
given that |a|b is a non‐zero integer? 

For |a|b > 0, a must be non‐zero and b must be positive  (since |a| will always be positive)
If |a|b is a non‐zero integer, obviously |a| is not zero , as 0 raised to any exponent is 0. Therefore, the first condition is 
satisfied. 
Given that a is non‐zero, |a| must be positive integer. At first glance, it seems that bmust be positive because a 
positive integer raised to a negative integer is typically fractional (e.g., a‐2 = 1/a2). Hence, it appears that b cannot be 
negative. However, there is a special case where this is not so: 
If |a| = 1, then b could be anything (positive, negative, or zero) since |1|b is always equal to 1, which is a non‐zero 
integer . In addition, there is also the possibility that b = 0. If |b| = 0, then |a|0 is always 1, which is a non‐zero integer.

Hence, based on the statement provided, we cannot determine whether b is positive

SQUARING NUMBERS  ‐ Negative numbers and numbers greater than 1  get larger
‐ 0 and 1 stay the same 
‐ Numbers between 0 and 1  get smaller

CUBING NUMBERS  ‐ Numbers between ‐1 and 0 and numbers greater than 1  get larger
‐ 1, 0 and ‐1 stay the same
‐ Numbers less than ‐1 and numbers between 0 and 1  get smaller

Quadratic equations x2 ‐ y2 = (x + y)(x – y)
x2 + 2xy + y2 = (x + y)(x + y) = (x + y)2

x2 – 2xy + y2 = (x ‐ y)(x ‐ y) = (x ‐ y)2

a3 + b3 = (a + b)(a2 – ab + b2) 
a3 – b3 = (a – b)(a2 + ab + b2)
(a‐b)3 = a3 ‐ 3a2b + 3ab2 ‐b3

(a + b)3 = a3 + 3a2b + 3ab2 + b3

Grows by K This means literally adding k to the original number. If the original number is x, the result is x+k

Grows by k times This means the new number is the old number plus k times the number. If the original number is x, the result is x + kx = 
x (1+k) 

Grows to k times This means the new number is simply k times the old number. If the original number is x, the result is kx

Grows by k% In this case, we simply add k% of the number to itself. If the original number is x, the result is x(1 + k/100) 

GMAT STRATEGY/TIPS 

VERY IMPORTANT !! 

STATEMENT IMPLICATION

The distance between p and m is the same as 
the distance between p and n 

| p ‐ m | = | p – n |





















PERCENTAGES – 3 

DISCOUNT PROBLEMS 
‐ If a price is discounted by n percent, then the price becomes (100 – n) percent of the original price
‐ Discount is calculated on Marked price and NOT on Cost price

Example # 1
A certain customer paid $24 for a dress. If that price represented a 25 percent discount on the original price of the dress, what was the original price of the dress? 
Solution # 1
If p is the original price of the dress, then 0.75p is the discounted price and 0.75p = $24, or p = $32. The original price of the dress was $32.

Example #2
The price of an item is discounted by 20 percent and then this reduced price is discounted by an additional 30 percent. These two discounts are equal to an overall discount of what percent? 
Solution # 2
If p is the original price of the item, then 0.8p is the price after the first discount. The price after the second discount is (0.7)(0.8)p = 0.56p. This represents an overall discount of 44 percent 
(100% – 56%)

SIMPLE INTEREST
‐ SI = Simple Interest, P = Principal, T = Time period in years, R = Rate of interest per annum
‐ S. I. = (PTR)/100
‐ If simple interest for 2 years is 200, then S.I for 4 years is 400, for 1 year it is 100, for 10 years it is 1000. If S.I. for any length of time is known, then it can be calculated for any other length of 

time

A man invests $1000 in a bank which pays him 10% p.a. rate of simple interest for 2 years. How much does the man get after 2 years? 

S.I. = (1000 ×2 ×10)/100 = 200
Therefore,  amount after 2 years = P + S.I. = 1000 + 200 = 1200

COMPOUND INTEREST 
A = P × [1 + (R/100)] ^n

• If interest is compounded monthly, divide the annual rate by 12, and multiply n by 12
• If interest is compounded quarterly, divide the annual rate by 4, and multiply n by 4
• If interest is compounded semi‐annually, divide the annual rate by 2, and multiply n by 2

PERCENTAGES – 4

IMPORTANT 

• If A is 25% more than B, then it is not same as “B is 25% less than A”

• A% of B = B % of A

Original Value New Value % Increase Value Increase

X 2X 100% TWICE

X 3X 200% THRICE

X 4X 300% QUADRUPLED

X XN (N‐1)% N TIMES

• 33% INCREASE = 4/3  133.33% of the original value



PERCENTAGES – 5

All of the furniture for sale at Al s Discount Furniture is offered for less than the manufacturer s suggested retail price. Once a year, Al s holds a clearance sale. If jamie
purchased a certain desk during the sale, did she get a discount of more than 50% of Al s regular price for the desk? 
(1) Al s regular price for the desk is 60%, rounded to the nearest percent, of the MSRP of $2000
(2) The sale price was $601 less than Al s regular price for the desk

In order to determine the percent discount received by Jamie, we need to know two things: the regular price of the desk and the sale price of the desk. Alternatively, we 
could calculate the percent discount from the price reduction and either the regular price or the sale price

(1) INSUFFICIENT: This statement tells us the regular price of the desk at Al s, but provides no information about how much Jamie actually paid for the desk during the annual 
sale.
(2) INSUFFICIENT: This statement tells us how much the price of the desk was reduced during the sale, but provides no information about the regular price. For example, if 
the regular price was $6010, then the discount was only 10%. On the other hand, if the regular price was $602, then the discount was nearly 100%. 

(1) AND (2) INSUFFICIENT: At first glance, it seems that the statements together provide enough information

Statement (1) seems to provide the regular price of the desk, while statement (2) provides the discount in dollars. However, pay attention to the words “rounded to the 
nearest percent” in statement (1). This indicates that the regular price of the desk at Al s is 60% of the MSRP, plus or minus 0.5% of the MSRP. Rather than clearly stating that 
the regular price is (0.60)($2000) = $1200, this statement gives a range of values for the regular price: $1200 plus or minus $10 (0.5% of 2000), or between $1190 and $1210.  
If the regular price was $1190, then the discount was ($601/$1190) × 100% = 50.5% (you can actually see that this is greater than 50% without calculating). If the regular 
price was $1210, then the discount was ($601/$1210) × 100% = 49.7% (you can actually see that this is less than 50% without calculating).
The uncertainty about the regular price means that we cannot answer with certainty whether the discount was more than 50% of the regular price. 
The correct answer is E

COMMON FRACTIONS, DECIMALS AND PERCENTAGE EQUIVALENTS 

FRACTION DECIMAL PERCENTAGE

1/100 0.01 1%

1/50 0.02 2%

1/25 0.04 4%

1/20 0.05 5%

1/10 0.1 10%

1/9 0.11 11%

1/8 0.125 12.5%

1/6 0.167 16.7%

1/5 0.2 20%

1/4 0.25 25%

3/10 0.3 30%

1/3 0.333 33.3%

3/8 0.375 37.5%

2/5 0.4 40%

1/2  0.5 50%

FRACTION DECIMAL PERCENTAGE

3/5 0.6 60%

5/8 0.625 62.5%

2/3 0.6677 66.67%

7/10 0.7 70%

3/4 0.75 75%

4/5 0.8 80%

5/6 0.833 83.33%

7/8 0.875 87.5%

9/10 0.9 90%

5/4 1.25 125%

4/3 1.33 133%

3/2 1.5 150%

7/4 1.75 175%







EXPONENTS

RULE EXAMPLE

When we multiply terms with the same base, we ADD the exponents
xa * xb = x(a+b)

34x 32= 3(4+2)= 36

When we divide terms with the same base, we SUBTRACT the exponents
xa / xb = x(a‐b)

36 / 32= 3(6‐2)= 34

ax * bx = (ab)x 24.34 = 64

When raising a power to a power, combine exponents by MULTIPLYING
(ax)y = axy

(32)4 = 38

NEGATIVE EXPONENTS 
x – a = 1 / xa

2x‐4 = 2/x4

x(a/b) = b √xa 5 √x15 = x 15/5 = x3

ax + ax + ax = 3ax 34 + 34 + 34 = 3 * 34 = 35

AN EXPONENT OF 1 – When you see a base without an exponent, write in an exponent of 1 3 * 3x=31 * 3x = 3(1+x) = 3x + 1

AN EXPONENT OF ZERO – any non‐zero base raised to the power of 0 is equal to 1 30 = 1

Simplifying exponential expressions
Always try to simplify exponential expressions when they have the same base or the same exponent. You can only simplify exponential expressions that are linked 
by multiplication or division. When expressions with the same base are linked by a sum, you cannot simplify but you can factor the expression:
7² + 7³ = 7².(7 + 1) = 49.8
Example: what is the largest prime factor of 4²¹ + 4²2 + 4²³?
Answer: 4²¹ + 42² + 4²³ = 4²¹(1 + 4 + 16) = 4²¹.(21) = 4²¹(3.7). The largest prime factor of 4²¹ + 422 + 4²³ is 7

*** When both sides of the equation are broken down to the product of prime bases, the respective exponents of like bases must be equal

ROOTS

A ROOT is the inverse operation of raising a number to an exponent, and answers the question: Which number do I multiply by itself n times in 
order to get a product of b ?

EVEN ROOTS ONLY HAVE ONE SOLUTION – A POSITIVE VALUE
• Unlike even exponents, which yield both a positive and a negative solution, even roots have only one solution. √4 can only be 2, and not ‐2
• A root can only have a negative value if it is an odd root, and the base is negative 

SIMPLIFYING A ROOT
• GMAT very often tries to trick you by giving a root linked by addition where it is tempting to simplify the terms, for example: √(25 + 16). It is 

tempting to think that this will result into 5 + 4, but you can only simplify roots when the terms inside/outside are linked by multiplication or 
division

• Simplifying radicals in the denominator with conjugate radical expressions is very useful on challenging GMAT radical questions
• Examples of roots simplification:

√25.16 = √25 . √16 = 5.4
√50 . √18 = √50.18 = √900 = 30
√144:16 = √144 : √16 = 12/4 = 3
√25+16 = √41  you cannot simplify this one
2√7 + 3√7 = 5√7

KNOWING COMMON ROOTS
• GMAT requires you to know all the perfect square roots from 1 to 30 and also the following imperfect rules:

√2 ≈ 1.4
√3 ≈ 1.7
√5 ≈ 2.25

SUM OF THE ROOTS OF AN EQUATION ax2+bx+c=0 IS (‐B/A)







MULTIPLE RATE, DISTANCE TIME PROBLEMS  

TIME RELATIONS

RELATION  EXAMPLE
RATE

(miles/hour) x
TIME 
(hours)

= 
DISTANCE
(miles)

SLOWER/FASTER Joey runs a race 30 seconds faster than Tommy 

* These signs are the opposites of the ones for the "slower I 
faster" rate relations. If Joey runs a race faster than Tommy, 
then Joey's speed is higher, but his time is lower

Joey t – 30 

Tommy t

LEFT… AND 
MET/ARRIVED

Sue left her office at the same time (i.e., 1:00pm) as Tara left 
hers. They met sometime later

* Sue and Tara traveled for the same amount of time

Sue t 

Tara t

LEFT… AND 
MET/ARRIVED

Sue left her office at the same time as Tara left hers, but Sue 
arrived one hour earlier 

*Sue traveled for 1 hour less than Tara

Sue t ‐1 

Tara t

LEFT… AND 
MET/ARRIVED

Sue left office 1 hour after Tara, but they met on the road 

*Sue traveled for 1 hour less than Tara

Sue t ‐1 

Tara t

MULTIPLE RATE, DISTANCE TIME PROBLEMS – THE KISS/CRASH 

SAMPLE SITUATION
RATE

(miles/hour)
x

TIME 
(hours)

= 
DISTANCE
(miles)

The kiss/crash

Car A and Car B start driving toward each other at the 
same time*. Eventually they crash into each other (i.e., 
point they meet)

** This means that they have been traveling for the same 
amount of time

Car A a t A s distance

Car B b t B s distance

Total  a + b  t A’s Distance + B’s distance = Total distance 
covered 

Examples

Stacy and Heather are 20 miles apart and walk towards 
each other along the same route. Stacy walks at a constant 
rate that is 1 mile per hour faster than Heather's constant 
rate of 5 miles/hour. If Heather starts her journey 24 
minutes after Stacy, how far from her original destination 
has Heather walked when the two meet?

Stacy 6 t + 0.4 6t + 2.4

Heather 5 t 5t

Fill in all the numbers that you know or can compute very simply: Heather's speed is 5 miles/hour, and 
Stacy's speed is 5 + 1 = 6 miles/hour. Next, try to introduce only one variable. Let t stand for Heather's 
time.  Also, we know that Stacy walked for 0.4 hours more than Heather, so Stacy's time is t + 0.4

Finish the table by multiplying across rows and by adding the one column that can be added (distance in 
this case). Because Stacy started walking earlier than Heather, you should not simply add the rates in this 
scenario. You can only add the rates for the period during which the women are both walking.  The table 
produces the equation (6t+ 2.4) + 5t= 20, yielding t= 1.6. Heather's distance is therefore 5t, or 8 miles



MULTIPLE RATE, DISTANCE TIME PROBLEMS – CATCHING UP/OVERTAKING 

SAMPLE SITUATION
RATE

(miles/hour) 
x

TIME 
(hours)

= 
DISTANCE
(miles)

Catching up/Overtaking

Car A is chasing Car B. How long does it take for Car A 
to catch up with Car B? 

** The key to these problems is that at the moment 
when one person/car catches up with the other, they 
have traveled the same distance

Car A a t1 A s distance

Car B b t2 B s distance

Relative 
Positive

a ‐ b 

EXAMPLES

Scott starts jogging from point X to Point Y. A half‐hour 
later, this friend Garrett who jogs 1 mile per hour 
slower than twice Scott s rate starts from the same 
point and follows the same path. If Garrett overtakes 
Scott in 2 hours, how many miles will Garrett have 
covered? 

Scott r 2.5 2.5r 

Garrett 2r – 1  2 4r ‐2 

2.5 r = 4r – 2
2 = 1.5r
r = 4/ 3

Garrett traveled (4*4/3) ‐2 miles = 3 1/3 
miles

MULTIPLE RATE, DISTANCE TIME PROBLEMS – ROUND TRIP 

SAMPLE SITUATION
RATE

(miles/hour) 
x

TIME 
(hours)

= 
DISTANCE
(miles)

The round trip

Jan drives from home to work in the morning, and 
then takes the same route home in the evening

**The key to these problems is that the distance going 
is the same as the distance returning 

Going Time going D

Return Time coming D

Total VARIES  Total time 
(ADD)

2D 
(ADD)

EXAMPLES

A cyclist travels 20 miles at a speed of 15mph. If he 
returns along the same path and the entire trip takes 2 
hours, what speed did he return? 

Going 15 4/3 hours 20

Return 30 2 – 4/3 = 2/3  20

Total 2  40 

















QUOTIENTS AND REMAINDERS

Y = (QUOTIENT * DIVISOR) + REMAINDER 

CONCEPT DESCRIPTION

CREATING NUMBERS WITH A CERTAIN 
REMAINDER

‐ Some GMAT problems require you to generate arbitrary numbers that yield a certain remainder upon division
‐ For example, if you need a number that leaves a remainder of 5 when divided by 7, you can pick 14 (a multiple of 7) 

and add 5 to get 19. If you want to write a general algebraic form, you can write T*integer: + 5, where integer
represents some random integer. 7*integer is therefore a multiple of 7, and 7*integer + 5 is a multiple of 7, plus 5

RANGE OF POSSIBLE REMAINDERS When you divide an integer by a positive integer N, the possible remainders range from 0 to (N ‐ 1). There are thus N 
possible remainders. Negative remainders are not possible, nor are remainders equal to or larger than N. For example, 
for an integer divided by 7, the remainder could be 0, 1,2, 3, 4,5,or 6

Example:
‐ If a/ b yields a remainder of 5, c / d yields a remainder of 8, and a, b, c and d are all integers, what is the smallest 

possible value for b + d?
‐ Since the remainder must be smaller than the divisor, 5 must be smaller than b. b must be an integer, so b is at 

least 6. Similarly, 8 must be smaller than d, and d must be an integer, so d must be at least 9. Therefore the smallest 
possible value for b + d is 6 + 9 = 15

REMAINDER OF ZERO If x divided by y yields a remainder of zero, then x is divisible by y

ARTIHEMETICWITH REMAINDERS  You can add and subtract remainders directly, as long as you correct excess or negative remainders. If x leaves a 
remainder of 4 after division by 7 and z leaves a remainder of 5 after division by 7, then adding the remainders 
together yields 9. This number is too high, however. The remainder must be non‐negative  and less than 7. We can 
take an additional 7 out of the remainder, because 7 is the excess portion. Thus x + z leaves a remainder of 9 ‐7 = 2 
after division by 7

You can multiply remainders, as long as you correct excess remainders. Again, if x has a remainder of 4 upon division 
by 7 and z has a remainder of 5 upon division by 7, then 4 x 5 gives 20. Two additional 7's can: be taken out of this 
remainder, so x‐z will have remainder 6 upon division by 7

‐ If the divisor leaves a remainder ‘r’, all its factors will leave the same remainder, provided that the value of the remainder is smaller than the value of the factor. 
For example, if the remainder of a number divided by 21 is 5, then the remainder of that same number when divided by 7 (factor of 21) will also be 5
‐ If the value of the remainder is greater than the value of the factor, we will need to divide the remainder with the divisor. For example, if the remainder of a 

number divided by 21 is 5, then the remainder of that same number when divided by 3 (factor of 21) will be 5/3, which is 2 

QUOTIENTS AND REMAINDERS

CONCEPT DESCRIPTION EXAMPLE

REMAINDERS AND 
DECIMALS

We say that 17 is not divisible by 5, because it leaves a remainder of 2 
after, division by 5. However, if you punch "17 + 5 =" into a calculator, it 
gives you a number back: 3.4. This quotient has an integer portion (3) 
and a decimal portion (0.4). The decimal portion represents the 
remainder 2 divided by 5

DECIMAL PORTION = REMAINDER/DIVISOR 
DECIMAL PORTION * DIVISOR = REMAINDER

When positive integer A is divided by positive integer B, the 
result is 4.35.
Which of the following could be the remainder when A is 
divided by B?
(A) 13 (B) 14 (C) 15 (D) 16 (E) 17

We isolate the decimal part of the division result: 0.35. Now 
we set that decimal equal to the unknown remainder R 
divided by the divisor B:
0.35 = R/B
0.35 = 35/100 = 7/20 = R/B
7B = 20 R
Now, since both Band R are integers, we can see that R must 
contain a 7 in its prime factorization; otherwise, there is no 
way for a 7 to appear on the left side. Thus, R must be a 
multiple of7. The only answer choice that in multiple of7 is 
14, which is the correct answer

Remainder of x*y when divided by n 
(Remainder of X/N)*(Remainder of Y/N)/N

Remainder of 20*27 when divided by 25 is:
 [Remainder of (20/25)*Remainder of (27/25)]/ 25
 Remainder of [20*2]/25
 Remainder is 15

Remainder of 225/13 is:
 [Remainder of (15/13)*Remainder of (15/13)]/ 13
 Remainder of [2*2]/13
 Remainder is 4



QUOTIENTS AND REMAINDERS

Question Solution

When integer m is divided by 13, the quotient is q 
and the remainder is 2. When m is divided by 17, 
the remainder is also 2. What is the remainder 
when q is divided by 17?

From the definition of quotients and remainders, we have:

m = 13q + 2
m = 17a + 2

So we have: 
13q + 2 = 17a + 2
13q = 17a

Since this equation involves only integers, the primes that divide the right side must divide the left, and vice versa. 
That is, q must be divisible by 17, and a must be divisible by 13. If q is divisible by 17, the remainder is zero when 
you divide q by 17

When positive integer n is divided by 3, the 
remainder is 2; and when positive integer t is 
divided by 5, the remainder is 3. What is the 
remainder when the product nt is divided by 15?

(1) n‐2 is divisible by 5.
(2) t is divisible by 3

When positive integer n is divided by 3, the remainder is 2; 
I say n = 3a + 2 ( a is a non negative integer)

and when positive integer t is divided by 5, the remainder is 3. 
So t = 5b + 3 (b is a non negative integer.)

What is the remainder when the product nt is divided by 15?
So nt = (3a + 2)(5b + 3) = 15ab + 9a + 10b + 6
15ab is divisible by 15. But I don't know anything about (9a + 10b + 6) yet.

Statement 1: n‐2 is divisible by 5
From above, n ‐ 2 is just 3a. If n ‐ 2 is divisible by 5, then 'a' must be divisible by 5. So I get that 9a is divisible by 15. 
I still don't know anything about b. If b = 1, remainder of nt is 1. If b = 2, remainder of nt is 11 and so on... Not 
sufficient.

Statement 2: t is divisible by 3.
If t is divisible by 3, then (5b + 3) is divisible by 3. Therefore, b must be divisible by 3. (If this is unclear, think: 15 + 3
will be divisible by 3 but 20 + 3 will not be. If the second term is 3, the first term must also be divisible by 3 to make 
the whole expression divisible by 3). So 10b is divisible by 15 but we do not know anything about a. If a = 1, 
remainder of nt is 0, if a = 2, remainder of nt is 9. Not sufficient.

Using both statements together, we know 9a and 10b are divisible by 15. So remainder must be 6. Sufficient.

Answer (C)

QUOTIENTS AND REMAINDERS

Question Solution

When positive integer n is divided by 5, the 
remainder is 1. When n is divided by 7, the 
remainder is 3. What is the smallest positive 
integer k such that k+n is a multiple of 35?
A. 3
B. 4
C. 12
D. 32
E. 35

Positive integer n is divided by 5, the remainder is 1 ‐‐> n = 5q + 1 , where q is the quotient ‐‐> 1, 6, 11, 16, 21, 
26, 31, ...
Positive integer n is divided by 7, the remainder is 3 ‐‐> n = 7p + 3, where is the quotient ‐‐> 3, 10, 17, 24, 31, ....

You can not use the same variable for quotients in both formulas, because quotient may not be the same upon 
division n by two different numbers.

For example 31/5, quotient q=6 but 31/7, quotient p=4.

There is a way to derive general formula for n (of a type n = mx + r , where x is divisor and r is a remainder) 
based on above two statements:

Divisor x would be the least common multiple of above two divisors 5 and 7, hence x = 35

Remainder r would be the first common integer in above two patterns, hence r = 31

Therefore general formula based on both statements is n = 35m + 1. Thus the smallest positive integer k such that 
k+n is a multiple of 35 is 4 ‐‐> n + 4= 35K + 31 + 4 = 35 (k+1)



EVEN AND ODD INTEGERS 

ADDING AND SUBTRACTING MULTIPLYING DIVIDING

When the values are the same type, the result is always 
even; else odd

If there are an odd number of odd integers, the result will 
be ODD, regardless of the number of even integers present 

When adding an odd number of consecutive integers, the 
result can be either even or odd
Example: 1 + 2 + 3 = 6 

2 + 3 + 4 = 9 

A single even value will make the result 
even, else odd

EVEN/EVEN
‐ Even (8/4 = 2)
‐ Odd (24/8 = 3) 
‐ Non integer (10/4 = 2.5)

EVEN/ODD 
‐ Even (12/3 = 4) 
‐ Non integer (12/5 = 2.4)

** For the quotient to be even, 
the dividend (numerator) MUST 
BE EVEN 
** The product of an odd integer 
and a non‐integer can produce an 
even result

ODD/ODD
‐ Odd (25/5 = 3) 
‐ Non integer (25/3 = 8. 3)

ODD/EVEN 
‐ Non integer (7/2 = 3.5)

Example:
If m, n and p are integers, is m + n odd? 
(1) m = p2 + 4p + 4
(2) n = p2 + 2m + 1

(1) If p is even, m = even, and if p is odd, m = odd 
Thus we don't know whether m is even or odd. Additionally, 
we don t know anything about n
(2) If p is even, n = odd and if p is odd, n = even
Thus we don't know whether n is even or odd. Additionally, 
we know nothing about m

(1) AND (2) SUFFICIENT: If p is even, then m will be even and 
n will be odd. If p is odd, then m will be odd and n will be 
even. In either scenario, m + n will be odd. The correct 
answer is C

Example:
If a, b and c are integers and ab2/c is a positive even integer, which of the 
following must be true?
I. ab is even 
II. ab > 0
III. c is even 

If ab2 were odd, the quotient would never be divisible by 2, regardless of 
what c is. If ab2 is even, either a is even or b is even
I. TRUE: Since a or b is even, the product ab must be even
II. NOT NECESSARILY: For the quotient to be positive, a and c must have 

the same sign since b2 is definitely positive. We know nothing about the 
sign of b. The product of ab could be negative or positive

III. NOT NECESSARILY: For the quotient to be even, ab2 must be even but c 
could be even or odd. An even number divided by an odd number could 
be even (ex: 18/3), as could an even number divided by an even number 
(ex: 16/4)

• ONLY integers can be even/odd
• An odd integer can be expressed as 2n + 1 and an even integer can be expressed as 2n 
• Sum of two different prime numbers will ALWAYS be EVEN, unless one of the numbers is 2 
• If two even integers are multiplied, the result will be divisible by 4, and if three even integers are multiplied, the result will be divisible by 8 etc. 

Example: If X is even, and N = (X)(X+1)(X+2), is N divisible by 24?
Yes.  The terms x and x+2 must each have a factor of 2, and the product (X)(X+1)(X+2) must have factors 1, 2, 3 and 4  Therefore, the prime factorization of N must be a 
multiple of 1*2*3*2*2 = 24

POSITIVE AND NEGATIVE INTEGERS

ADDING AND SUBTRACTING MULTIPLYING AND DIVIDING

Positive + Positive = Positive
Negative + Negative = Negative
Positive – Negative = Positive
Negative – Positive = Negative
Positive + Negative = Depends on the magnitude

When both values are of the same sign, the result is positive; else negative

** If there are an odd number of negatives, the result will be negative, given that 
none of the other elements is zero 

Example: Is the product of all elements in set S negative?
(1) All the elements in set S are negative
(2) There are five negative elements in S

• At first glance, it may seem that statement (2) is sufficient because an odd number 
of negative integers yields a negative result. However, we do not know whether Set 
S contains zero or not, and hence, cannot conclude whether the product of the 
elements of set S is negative. INSUFFICIENT 

• Statement (1) tells us that all of the numbers in the set are negative. If there are an 
even number of negatives in Set s, the product of its elements will be positive; if 
there are an odd number of negatives, the product will be negative. This also is 
INSUFFICIENT

• Combining both statements, we know that there are 5 elements in the set, all of 
which are negative. Hence, the product will be negative

ZERO is neither positive nor negative – be very careful ! 





BASIC EQUATIONS (THOSE WITHOUT EXPONENTS)

SIMULTANEOUS EQUATIONS – THREE VARIABLES 

• Look for ways to simplify the work. Look especially for shortcuts or symmetries in the form of the equations to reduce the number of steps needed to 
solve the system

• Example: What is the sum of x, y and z?

‐ x + y=8; x + z=1; y + z=7

‐ In this case, DO NOT try to solve for x, y, and z individually. Instead, notice the symmetry of the equations‐each one adds exactly two of the 
variables‐and add them all together. Therefore, 2x + 2y + 2z = 26; and x + y+ z = 13

MISMATCH PROBLEMS 

• MISMATCH problems, which are particularly common on the Data Sufficiency portion of the test, are those in which the number of unknown variables 
does NOT correspond to the number of given equations

• A MASTER RULE for determining whether 2 equations involving 2 variables (say, x and y) will be sufficient to solve for the variables is this: (1) If both of 
the equations are linear‐that is, if there are no squared terms (such as x2 or y2) and no xy terms‐the equations will be sufficient UNLESS the two 
equations are mathematically identical (e.g., x +y = 10 is identical to 2x + 2y = 20) and (2) If there are ANY non linear terms in either of the equations 
(such as x2, y2, x/y, or xy), there will USUALLY be two (or more) different solutions for each of the variables and the equations will not be sufficient.

• Example:

‐ What is X?

3x/ (3y + 5z) = 8 ; 6y + 10 z = 18

‐ It is tempting to say that these two equations are not sufficient to solve for x, since there are 3 variables and only 2 equations. However, the 
question does NOT ask you to solve for all three variables. It only asks you to solve for x, which IS possible. First, get the x term on one side of the 
equation: 3x = 8(3y + 5z). Then, notice that the second equation gives us a value for 3y + 5z, which we can substitute into the first equation in order 
to solve for x. Thus, BOTH statements TOGETHER are sufficient 

COMBO PROBLEMS – MANIPULATION 

• The GMAT often asks you to solve for a combination of variables, called COMBO problems. For example, a question might ask, what is the value of x +y?

• In these cases, since you are not asked to solve for one specific variable, you should generally NOT try to solve for the individual variables right away. 
Instead, you should try to manipulate the given equation(s) so that the COMBO is isolated on one side of the equation. There are four easy 
manipulations that are the key to solving most COMBO problems:

‐ M: Multiply or divide the whole equation by a certain number

‐ A: Add or subtract a number on both sides of the equation

‐ D: Distribute or factor an expression on ONE side of the equation.

‐ S: Square or un square both sides of the equation

• Combo problems occur most frequently in Data Sufficiency. Whenever you detect this is a Data Sufficiency question that may involve a combo, you 
should try to manipulate the given equation(s) in either the question or the statement, so that the combo is isolated on one side of the equation. Then, 
if the other side of an equation from a statement contains a VALUE, that equation is SUFFICIENT. If the other side of the equation contains a VARIABLE 
EXPRESSION, that equation is NOT SUFFICIENT

ABSOLUTE VALUE EQUATIONS 

• Absolute value refers to the POSITIVE value of the expression within the absolute value brackets. Equations that involve absolute value 
generally have  TWO SOLUTIONS. In other words, there are TWO numbers that the variable could equal in order to make the equation true. 
The reason is that the value of the expression inside the absolute value brackets could be POSITIVE OR NEGATIVE. For instance, if we know 
|x| = 5, then x could be either 5 or ‐5, and the equation would still be true

• If |x| > x then x must be negative

• The following three‐step method should be used when solving for a variable expression inside absolute value brackets. Consider the 
following example: Solve for w, given that 12 + |w – 4| = 30.

1. Isolate the expression within the absolute value brackets: |w – 4| = 18 

2. Remove the absolute value brackets and solve the equation for 2 different cases (positive and negative)

‐ w – 4 = 18; w = 22

‐ ‐ (w – 4 ) = ‐ 18; ‐ w + 4 = 18; ‐ w = 14; w = ‐14 

3.  Check to see whether each solution is valid by putting each one back into the original equation and verifying that the two sides of 
the equation are in fact equal. The possibility of a failed solution is a peculiarity of absolute value equations. For most other types of 
equations, it is good to check your solutions, but doing so is less critical





INEQUALITIES

• When you multiply or divide an inequality by a negative number, the inequality sign flips. A corollary of this is that you cannot multiply or divide an 
inequality by a variable, unless you know the sign of the number that the variable stands for. The reason is that you would not know whether to flip 
the inequality sign

‐ For example, given that 
௫

௬
	൏ 1	, and y > 0,  is x < y? 

‐ It might seem as if statement 1 alone is sufficient because when we multiply both sides of the inequality by y, we get x < y. However, because we do not 
know whether y is positive or negative, we are NOT ALLOWED to multiply both sides of the equation by y without considering two separate cases. If y is 
positive, then the solution to the inequality is in fact x <y. However, if y is negative we are multiplying an inequality by a negative number; thus, the sign 
flips and yields the solution x> y. Therefore, statement 1 is insufficient. Statement 2 is insufficient as well because it only tells us that y > 0, and does not
define a relationship between x and y. However, together, both statements are sufficient 

• RECIPROCAL OF INEQUALITIES

‐ Taking reciprocals of inequalities is similar to multiplying/dividing by negative numbers. You need to consider the positive/negative cases of the 
variables involved. The general rule is that if x < y, then: 

‐ 1 / x > 1 / y , when x and y are positive ( If x = 3, y = 4, then 1 / 3 > 1 / 4 ) 

‐ 1 / x > 1 / y, when x and y are negative ( If x =  ‐ 4 , y = ‐ 2 , then ‐ 1 / 4 > ‐ 1 / 2 ) 

‐ 1 / x < 1 / y, when x is negative and y is positive ( If x =  ‐ 4 , y = 7 , then ‐ 1 / 4 < 1 / 7 ) – DO NOT FLIP THE SIGN OF THE INEQUALITY 

• SQUARING INEQUALITIES

‐ If both sides are known to be negative, then flip the inequality sign when you square: For instance, if x < ‐3, then the left side must be negative. 
Since both sides are negative you can square both sides and reverse the inequality sign: x2 > 9. However, if you are given an inequality such as x > ‐3, 
then you cannot square both sides, because it is unclear whether the left side is positive or negative. If x is negative, then x2 < 9, but if x is positive, 
then x2 could be either greater than 9 or less than 9

‐ If both sides are known to be positive, then do not flip the inequality sign when you square: For instance, if x> 3, then the left side must be 
positive; since both sides are positive, you can square both sides to yield x2 > 9

‐ If one side is positive and one side is negative, or if the signs are not clear, then you cannot square: For example, if we know that x < y, x is 
negative, and y is positive, we cannot make any determination about x2 vs. y2. If, for example, x = ‐2 and y = 2, then x2 = y2. If x = ‐2 and y = 3, then x2 
< y2. If x = ‐2 and y = 1, then x2 > y2. It should be noted that if one side of the inequality is negative and the other side is positive, the squaring is 
probably not warranted‐‐some other technique is likely needed to solve the problem

• IMPORTANT CONCEPTS

‐ If a > b, then: 

‐ a + c > b + c

‐ a –c > b – c 

‐ ac > bc, if c is positive

‐ ac < bc, if c is negative

INEQUALITIES

• COMBINING INEQUALITIES 
Many GMAT inequality problems involve more than one inequality. To solve such problems, you may need to convert several inequalities to a compound inequality, 
which is a series of inequalities strung together
‐ For example, If x > 8, x < 17, and x + 5 < 19, what is the range of possible values for x?
 First, solve any inequalities that need to be solved. In this example, only the last inequality needs to be solved: x < 14 
 Second, simplify the inequalities so that all the inequality symbols point in the same direction, preferably to the left (less than): 8 < x, x <17, x < 14
 Third, combine the inequalities by taking the more limiting upper and lower extremes: 8 < x < 14  

Another helpful approach is to combine inequalities by adding the inequalities together. However, note that we should never subtract or divide two inequalities, and 
can only multiply inequalities together under certain circumstances 
‐ For example, is mn < 10 given that (1) m < 2 (2) n < 5
 It is tempting to multiply these two statements together and conclude that mn < 10. That would be a mistake, however, because both m and n could be 

negative numbers that yield a number larger than 10 when multiplied together. For example, if m = ‐2 and n = ‐6, then mn = 12, which is greater than 10. Since 
you can find cases with mn < 10 and cases with mn > 10, the correct answer is (E): The two statements together are INSUFFICIENT

 Consider the following variation: if both m and n are positive, is mn < 10 given that (1) m < 2 (2) n < 5 . Since the variables are positive, we can multiply these 
inequalities together and conclude that mn < 10. The correct answer is (C)

• MANIPULATING COMPOUND INEQUALITIES
Sometimes a problem with compound inequalities will require you to manipulate the inequalities in order to solve the problem. You can perform operations on a 
compound inequality as long as you remember to perform those operations on every term in the inequality, not just the outside terms.
‐ For example, consider the equation x + 3 <Y < x + 5
 Wrong: x  < y < x + 2 ( 3 needs to be subtracted from each term) 
 Correct: x  < y ‐ 3 < x + 2

• ADDING INEQUALITIES – very powerful technique! 
‐ In order to add inequalities, we must make sure the inequality signs are facing the same direction. If x < y and w < z, then x + w < y + z 
‐ For example, is a < c, given that (1) b > d and (2) ab2 – b > b2c – d 
 This is a multiple variable inequality problem, so you must solve it by doing algebraic manipulations on the inequalities
 (1) INSUFFICIENT: Statement (1) relates b to d, while giving us no knowledge about a and c
 (2) INSUFFICIENT: Statement (2) does give a relationship between a and c, but it still depends on the values of b and d. One way to see this clearly is by realizing 

that only the right side of the equation contains the variable d. Perhaps ab2 – b is greater than b2c – d simply because of the magnitude of d. Therefore there is 
no way to draw any conclusions about the relationship between a and c.

 (1) AND (2) SUFFICIENT: By adding the two inequalities from statements (1) and (2) together, we can come to the conclusion that a > c. Two inequalities can 
always be added together as long as the direction of the inequality signs is the same:

ab2 – b > b2c – d
(+) b > d
‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐

ab2 > b2c

Now divide both sides by b2. Since b2 is always positive, you don't have to worry about reversing the direction of the inequality. The final result: a > c



INEQUALITIES – USING EXTREME VALUES 

One effective technique for solving GMAT inequality problems is to focus on the EXTREME VALUES of a given inequality. This is particularly helpful when solving the following 
types of inequality problems: 

‐ Problems with multiple inequalities where the question involves the potential range of values for variables in the problem 

‐ Problems involving both equations and inequalities

PROBLEM TYPE EXAMPLE

INEQUALITIES 
WITH RANGES

Given that 0 <= x <= 3, and y < 8, which of the following could NOT be the value of xy? 0, 8, 12, 16, 24 

What is the lowest value for xy? Plug in the lowest values for both x and y. In this problem, y has no lower limit, so there is no lower limit to xy. What 
is the highest value for xy? Plug in the highest values for both x and y. In this problem, the highest value for x is 3, and the highest  value for y is less 
than 8. Because the upper extreme for xy is less than 24, xy CANNOT be 24. 
Notice that we would run into trouble if x did not have to be non‐negative. Consider this slight variation: Given that ‐1 <= x <= 3, and y < 8, what is 
the possible range of values for xy?  Because x could be negative and because y could be a large negative number, there  is no longer an upper 
extreme on xy. For example, if x = ‐1 and y = ‐1,000, then xy = 1,000. Obviously, much larger results are possible for xy if both x and y are negative.  
Therefore, xy can equal any number.

INEQUALITIES 
WITH EQUATIONS 

If 2h + k < 8, g + 3h = 15, and k = 4, what is the possible range of values for g? 
First, we can simplify the inequality by plugging 4 in for k to simplify the inequality: h < 2 
G = 15 – 3 (less than 2)
G = 15 – Less than 6
G = Greater than 9 (Notice that when we subtract LT6 from 15, we have to CHANGE the extreme value sign from LT to GT. Think of it this way; if we 
subtract 6 from 15, the result is 9. But if we subtract a number SMALLER than 6 from 15, the result will be LARGER than 9)

OPERATION EXAMPLE PROCEDURE

Addition  8 + < 2  Add just like regular numbers: 8 + LT2 = LTI0 (i.e., < 10)

Subtraction 8 ‐ <2 Subtract and flip the extreme value: 8 ‐ LT2 = GT6 (i.e., > 6)

Multiplication  a) 8 * <2 
b) ‐7 * <2

a) Multiply just like regular numbers: 8 * LT2 = LT16 (i.e., < 16)
b) Multiply and flip the extreme value: ‐7 * LT2 = GT(‐14) (i.e., > ‐14)

Division  8 / <2 Divide and flip the extreme value (if we know that LT2 is positive): 
8 / LT2 = GT4 (i.e., > 4)

Multiply two 
extreme values

< 8 * < 2  Multiply just like regular numbers (if we know that both extreme values are positive)
LT8* LT2 = LT16 (i.e., < 16) 

INEQUALITIES AND ABSOLUTE VALUES  

Solving inequalities 

√x2 = |x|

i. It is often helpful to try to visualize the problem with a number line.  For example, take the inequality |x| = 5. One way to understand 
this inequality is to say "x must be less than 5 units from zero on the number line." Indeed, one interpretation of absolute value is simply 
distance on the number line. For a simple absolute value expression such as lx|, we are evaluating distance from zero. The range 
therefore, would be ‐5 < x < 5 

ii. Equations involving absolute value require you to consider two scenarios: one where the expression inside the absolute value brackets 
is positive, and one where the expression is negative. The same is true for inequalities. Note that you should never change I x – 5 |to x + 
5. Remember, when you drop the absolute value signs, you either leave the expression alone or enclose the ENTIRE expression in 
parentheses and put a negative sign in front.  

‐ Example: Given that | x – 2 | < 5, what is the range of possible values of x? 

‐ To work out the FIRST scenario, we simply remove the absolute value brackets and solve: x – 2 < 5 ; x < 7

‐ To work out the SECOND scenario, we reverse the signs of the terms inside the absolute value brackets, remove the brackets, and 
solve again: ‐ (x ‐ 2) < 5 ; ‐ x + 2 < 5 ; ‐ x < 3 ; x > ‐ 3 

‐ Therefore, range is ‐3 < x < 7  

iii. Inequalities with two absolute value expressions 

‐ Because there are two absolute value expressions, each of which yields two algebraic cases, it seems that we need to test four 
cases overall: positive/positive, positive/negative, negative/positive, and negative/negative

‐ Example: Given that | x – 2 | = |2x – 3 |, what is the range of possible values of x? 

1. The positive/positive case: (x‐ 2) = (2x‐ 3)

2. The positive/negative case: (x ‐ 2) = ‐(2x ‐ 3)

3. The negative/positive case: ‐ (x ‐ 2) = (2x‐ 3)

4. The negative/negative case: ‐ (x‐ 2) = ‐ (2x‐ 3)



INEQUALITIES AND ABSOLUTE VALUES – EXAMPLES 

Problem  Solution 

If |x| + |y| = ‐ x – y and xy does not equal 0, 
which of the following must be true 
a) x + y > 0 
b) x + y < 0 
c) x – y > 0
d) x – y < 0 
e) x2 ‐ y2 > 0 

The |x| + |y| on the left side of the equation will always add the positive value of x to the positive value of y, yielding a
positive value. Therefore, the ‐x and the ‐y on the right side of the equation must also each yield a positive value. The only 
way for ‐x and ‐y to each yield positive values is if both x and y are negative
A. FALSE: For x + y to be greater than zero, either x or y has to be positive
B. TRUE: Since x has to be negative and y has to be negative, the sum of x and y will always be negative
C, D and E: UNCERTAIN: All that is certain is that x and y have to be negative. Since x can have a larger magnitude than y
and vice‐versa, x – y could be greater/less than zero.

If x and y are integers and xy does not equal 
0, is xy < 0 ? 

(1) y = x4 – x3

(2) ‐12y2 – y2x + x2y2 > 0

The question asks if xy < 0. Knowing the rules for positives and negatives, we can rephrase the question as: Do x and y
have the same sign?

(1) INSUFFICIENT: We can factor the right side of the equation y = x4 – x3 as follows:

y = x4 – x3

y = x3(x – 1)

Let's consider two cases: when x is negative and when x is positive. When x is negative, x3 will be negative (a negative 
integer raised to an odd exponent results in a negative), and (x – 1) will be negative. Thus, y will be the product of two 
negatives, giving a positive value for y. When x is positive, x3 will be positive and (x – 1) will be positive (remember that the 
question includes the constraint that xy is not equal to 0, which means y cannot be 0, which in turn means that x cannot be 
1). Thus, y will be the product of two positives, giving a positive value for y.

In both cases, y is positive. However, we don't have enough information to determine the sign of x. Therefore, this 
statement alone is insufficient.

(2) INSUFFICIENT: Let's factor the left side of the given inequality:
‐12y2 – y2x + x2y2 > 0
y2(‐12 – x + x2) > 0
y2(x2 – x – 12) > 0
y2(x + 3)(x – 4) > 0
The expression y2 will obviously be positive, but it tells us nothing about the sign of y; it could be positive or 
negative. Since y does not appear anywhere else in the inequality, we can conclude that statement 2 alone is insufficient 
(without determining anything about x) because the statement tells us nothing about y.
(1) AND (2) INSUFFICIENT: We know from statement (1) that y is positive; we now need to examine statement 2 further to 
see what we can determine about x. We previously determined that y2(x + 3)(x – 4) > 0. Thus, in order for y2(x + 3)(x – 4) 
to be greater than 0, (x + 3) and (x – 4) must have the same sign. There are two ways for this to happen: both (x + 3) and 
(x – 4) are positive, or both (x + 3) and (x – 4) are negative. For both expressions to be positive, xmust be greater than 4,
and for both expressions to be negative, xmust be less than ‐3. In conclusion, statement (2) tells us that x > 4 OR x < ‐
3. This is obviously not enough to determine the sign of x. Since the sign of x is still unknown, the answer is E

INEQUALITIES AND ABSOLUTE VALUES – EXAMPLES 

Problem  Solution 

What is x? 
(1) |x| < 2
(2) |x| = 3x ‐2 

(1) INSUFFICIENT: This expression provides only a range of possible values for x (i.e., ‐2 < x < 2) 

(2) SUFFICIENT: Absolute value problems often ‐‐ but not always ‐‐ have multiple solutions because the expression within
the absolute value bars can be either positive or negative even though the absolute value of the expression is always 
positive.  In order to determine the possible solutions for x, it is necessary to solve for x under both possible conditions. 

For the case where x > 0: 

x = 3x – 2 
‐2x = ‐2 
x = 1

For the case when x < 0:

x = ‐1(3x – 2) We multiply by ‐1 to make x equal a negative quantity.
x = 2 – 3x
4x = 2
x = 1/2

Note however, that the second solution x = 1/2 contradicts the stipulation that x < 0, hence there is no solution for x where 
x < 0. Therefore, x = 1 is the only valid solution for (2). 

The correct answer is B





PROGRESSIONS AND SEQUENCES – GEOMETRIC PROGRESSION 

• Geometric progression is a series of numbers in which each term is formed from the preceding by multiplying it by a constant factor ( r ). The constant 
factor is called the common ratio and is formed by dividing any term by the term which precedes it. For example, in the series 3,9,27,81 and 243, the 
factor is 3

• Three numbers in a G.P. should be taken as a/r, a, ar
• Four numbers in a G.P. should be taken as a/r3, a/r, ar, ar3

IMPORTANT FORMULAE 

nth term  ar(n‐1)

Sum of the first  n terms  where r < 1 	ሺ૚ࢇ െ – 1) /[(	࢔࢘	 r ) For every integer k from 1 to 10, inclusive, the kth term of a certain sequence is given by (‐
1)(k 1) *(1/2k). If T is the sum of the first 10 terms in the sequence then T is 

a. greater than 2
b. between 1 and 2
c. between 1/2 and 1
d. between 1/4 and ½
e. less than ¼

The series is (‐1/2), (1/4), (‐1/8), (1/16), (‐1/32) … 

Therefore, a = (‐1/2); r = (‐1/2); n = 10

S=( (1/2) * (1‐ (‐1/2)^10) ) / (1‐(‐1/2)
S=( (1/2) * (1 ‐ (1/1024) ) / (3/2)
S=(1‐1/1024) / 3
S=(1023/1024 ) / 3
Since 1023/1024 is close to 1, dividing it by 3 would get us to approximately 1/3, which is 
between 1/2 and 1/4. So the answer is D

Sum of the first  n terms  where r > 1 ሾࢇሺ࢔࢘					െ૚)]/ (r – 1 ) In a certain colony of cancerous cells, each cell divides into two every hour. How many will 
be produced from a single cell if the rate of division continues for 10 hours ? 
 1, 2, 4, ... a = 1, r = 2, n = 10
 S10 = 1 (2

10 – 1) /(2 – 1) = 210 – 1 = 1023

FUNCTIONS

• The "domain" of a function indicates the possible inputs and the "range" of a function indicates the possible outputs. For instance, the function f(x) = x2 can take any 
input but never produces a negative number. So the domain is all numbers, but the range is f(x) >= O

• COMPOUND FUNCTIONS – work from the INSIDE out 

‐ If f(x) = x³ + √x and g(x) = 4x – 3, what is f(g(3))?

‐ First, solve g(3): 4.3 – 3 = 9. Now, plug‐in 9 on f(x): 9³ + √9 = 729 + 3

• DETERMINING WHETHER A FUNCTION IS EVEN/ODD ‐ To do this, you take the function and plug –x in for x, and then simplify. If you end up with the exact same 
function that you started with (that is, if f(–x) = f(x), so all of the signs are the same), then the function is even. If you end up with the exact opposite of what you 
started with (that is, if f(–x) = –f(x), so all of the "plus" signs become "minus" signs, and vice versa), then the function is odd. So I'll plug –x in for x, and simplify: In all 
other cases, the function is "neither even nor odd“

‐ Example # 1 :  Determine algebraically whether f(x) = –3x2 + 4 is even, odd, or neither

‐ f(–x) = –3(–x)2 + 4 
= –3(x2) + 4 
= –3x2 + 4 
Since the new expression is the same as the initial expression, the function is even

• COMMON FUNCTION TYPES

i)  Direct proportionality  means that the two quantities always change by the same factor and in the same direction. For instance, tripling the input will cause the 
output to triple as well. Direct proportionality relationships are of the form Y = kx, where x is the input value, y is the output value and k is the proportionality 
constant. This equation can also be written as y/x = k

‐ Example: The maximum height reached by an object thrown directly upward is directly proportional to the square of the velocity with which the object is 
thrown. If an object thrown upward at 16 feet per second reaches a maximum height of 4 feet, with what speed must the object be thrown upward to reach a 
maximum height of 9 feet?

‐ Solution: Typically with direct proportion problems, you will be given "before" and "after" values. Simply set up ratios to solve the problem for example, y1 and  
x1 can be used for the "before” values and y2 and x2 can be used for the "after" values. We then write y1/x1 = y2/x2 , since both ratios are equal to the same 
constant k. In the problem given above, note that the direct proportion is between the height and the square of the velocity, not the velocity itself. Therefore, 
write the proportion as (4/162) =  9/v2 ; v2 = 576; v = 24

ii) Inverse proportionality means that the two quantities change by RECIPROCAL factors. Cutting the input in half will actually double the output. Inverse 
proportionality relationships are of the form yx = k. In these cases, set up the ratio as a product, and then solve

iii) Linear growth ‐Many GMAT problems, especially word problems, feature quantities with linear growth (or decay), i.e., they grow at a constant rate. Such 
quantities are determined by the linear function: Y = mx + b. In this equation, the slope m is the constant rate at which the quantity grows. The y‐intercept b is the 
value of the quantity at time zero, and the variable (in this case, x) stands for time. For instance, if a baby weighs 9 pounds at birth and gains 1.2 pounds per month, 
the function of his weight is: w = 1.2t + 9 (t = nº of months)





PERMUTATIONS VS. COMBINATIONS  

Permutation Combination 

Committees with position titles
It matters if one person is the president and the other a vice president, or the 
other way around

Generic committees
There is no rank so the committee is just one large union

Layer of colors used in a painting or project
It matters if blue goes first and then red, or the other way around

Different colors used in a painting or project
If the colors are not layered, then they are all on the canvas just the same

Combination of safe or lock
1435 is different from 1345

Sum of the combination of a safe or lock
1 + 4 + 3 + 5 is the same as 1 + 3 + 4 + 5

Different outfits to wear from a full wardrobe
Wearing a red shirt and blue pants is different from wearing a blue shirt and red 
pants

Different clothes to take on vacation from a larger selection
If a red shirt, blue shirt, red pants, and blue pants are all put in a suitcase it does 
not matter which one is first or last

Order of winning 1st, 2nd, 3rd in a race (also Gold, Silver, Bronze)
As in the Olympics, if one person wins the gold and another the silver that is 
different than the other way around

Different prizes to take home from a larger selection
If you bring home a stuffed animal and a hat you can only bring both home one 
way

Arranging people in a row
Steve, Maria and John in a row are different than Maria, Steve, and John

Putting people in a class 
If Steve, Maria and John are all in a class together, there is no first or last

Saying Hello
You can say hello to a friend and he/she can say hello back, and they are two 
different events

Handshakes
If you and a friend shake hands you are both doing the same act at the same time, 
so there can be no order

‐ One concept that you need to know for the exam is that when dealing with combinations and permutations, each result corresponds to 
a unique set of circumstances. For example, if you have z people and know that choosing two of them would result in 15 different 
possible groups of two, it must be true that z = 6. No other value of z would yield exactly 15 different groups of two. So if you know how 
many subgroups of a certain size you can choose from an unknown original larger group, you can deduce the size of the larger group

‐ Seating 5 people in 3 chairs, is the same as seating 3 people in 5 chairs 

SOLVING COMBINATORICS PROBLEMS – BASIC STRATEGIES 

FUNDAMENTAL COUNTING PRINCIPLE
If you must make a number of separate decisions, then multiply the number of ways  to make each individual decision to find the number of ways to make all decisions 
together
‐ Example: If you have 4 types of bread, 3 types of cheese and 2 types of ham and wish to make a sandwich, you can make it in 4*3*2 = 24 different ways

SLOT METHOD
For problems where some choices are restricted and/or affect other choices, choose most restricted options first (slot method)
‐ For example, you must insert a 5‐digit lock code, but the first and last numbers need to be odd, and no repetition is allowed. How many codes are possible?
‐ In this problem, you do not want to choose the five digits in order. Instead, you should start by picking the first and last digits (which must be odd), because these digits 

are the most restricted. Because there are 5 different odd digits (1, 3, 5, 7, and 9), there are 5 ways of picking the first digit. Since no repetition is allowed, there are only 
4 odd digits left for the last digit. You can then pick the other three digits in any order, but make sure you account for the lack of repetition. For those three choices, you 
have only 8, 7, and 6 digits available. Therefore, the total number of lock codes is 4 x 5 x 8 x 7 x 6 = 6,720

SIMPLE FACTORIALS
The number of ways in which n different things can be arranged in a straight line, such that no one thing is allowed to appear more than once in any of the arrangements (i.e. 
when repetitions are not allowed) is n!. n! counts the rearrangements of n distinct objects as a special (but very common) application of the Slot Method
‐ For example, In staging a house, a real‐estate agent must place six different books on a bookshelf. In how many different orders can she arrange the books? Using the 

Fundamental Counting Principle, we see that we have 6 choices for the book that goes first, 5 choices for the book that goes next, and so forth. Ultimately, we have this 
total: 6! = 6 x 5 x 4 x 3 x 2 x 1 = 720 different orders

ANAGRAMS
An anagram is a rearrangement of the letters in a word or phrase. For instance, the word DEDUCTIONS is an anagram of DISCOUNTED, and so is the gibberish "word“ 
CDDEINOSTU
‐ Anagrams with repeated words 
‐ The number of anagrams of a word is the factorial of the total number of letters, divided by the factorial(s) corresponding to each set of repeated letters

Example # 1
‐ How many different anagrams (meaningful or nonsense) are possible for the word PIZZAZZ?
‐ We might expect 7! possible combinations from the 7 letters in the word PIZZAZZ. However, there are only 210. Why are there, relatively speaking, so few anagrams? The 

answer lies in repetition: the four Z's are indistinguishable from each other. If the four Z's were all different letters, then we would have 7! = 5,040 different anagrams. To 
picture that scenario, imagine labeling the Z's with subscripts: Z1, Z2,  Z3 and Z4. We could then list the 5,040 anagram. Now erase the subscripts from those 5,040 
anagrams. You will notice that many "different“ arrangements‐like AIPZ1Z2Z3Z4, AIPZ4Z2Z3Z1' and so on‐are now the same. In fact, for any genuinely unique anagram‐like 
AIPZZZZ‐there are now 4! = 24 identical copies in the list of 5,040 anagrams, because there are 4! = 24 ways to rearrange the four Z's in the word PIZZAZZ without 
changing anything. Because this 24‐fold repetition occurs for every unique anagram of PIZZAZZ, we take 7! (which counts the arrangements as if the letters were all 
distinct) and divide by 4! (= 24) to account for the 4 repeated Z's



SOLVING COMBINATORICS PROBLEMS – ADVANCED STRATEGIES 

ARRANGEMENTS WITH CONSTRAINTS

Greg, Marcia, Peter, Jan, Bobby, and Cindy go 
to a movie and sit next to each other in 6 
adjacent seats in the front row of the theatre. If 
Marcia and Jan will not sit next to each other, 
in how many different arrangements can the 
six people sit?

This is a simple arrangement with one unusual constraint: Marcia and Jan will not sit next to each other. To solve the problem, ignore 
the constraint for now. Just find the number of ways in which six people can sit in 6 chairs: 6! = 6 x 5 x 4 x 3 x 2 x 1 = 720.  Because of the 
constraint on Jan and Marcia, though, not all of those no seating arrangements are viable. So you should count the arrangements in 
which Jan is sitting next to Marcia (the undesirable seating arrangements), and subtract them from the total of no. To count the ways in 
which Jan must sit next to Marcia, use the Glue Method: For problems in which items or people must be next to each other, pretend 
that the items "stuck together" are actually one larger item. We imagine that Jan and Marcia are "stuck together" into one person. 
There are now effectively 5 "people": JM (stuck together), G, P, B, and C. The arrangements can now be counted. These 5 "people" can 
be arranged in 5! = 120 different ways. Each of those 120 different ways, though, represents two different possibilities, because the 
"stuck together" movie‐goers could be in order either as J‐M or as M‐J. Therefore, the total number of seating arrangements with Jan 
next to Marcia is 2 x 120 = 240. Finally, do not forget that those 240 possibilities are the ones to be excluded from consideration. The 
number of allowed seating arrangements is therefore 720 ‐ 240, or 480

A woman has seven cookies – four chocolate 
chip and three oatmeal. She gives one cookie to 
each of her six children. If Deborah will only eat 
the kind of cookie that Kim eats, in how many 
different ways can the cookie be distributed? 
(the leftover cookie will be given to the dog)

There are two possibilities in this problem. Either Kim and Deborah will both get chocolate chip cookies or Kim and Deborah will both 
get oatmeal cookies. If Kim and Deborah both get chocolate chip cookies, then there are 3 oatmeal cookies and 2 chocolate chip cookies 
left for the remaining four children. There are 5!/3!2! = 10 ways for these 5 remaining cookies to be distributed‐‐four of the cookies will 
go to the children, one to the dog. (There are 5! ways to arrange 5 objects but the three oatmeal cookies are identical so we divide by 3!, 
and the two chocolate chip cookies are identical so we divide by 2!.) If Kim and Deborah both get oatmeal cookies, there are 4 chocolate 
chip cookies and 1 oatmeal cookie left for the remaining four children. There are 5!/4! = 5 ways for these 5 remaining cookies to be 
distributed‐‐four of the cookies will go to the children, one to the dog. (There are 5! ways to arrange 5 objects but the four chocolate 
chip cookies are identical so we divide by 4!.) Accounting for both possibilities, there are 10 + 5 = 15 ways for the cookies to be 
distributed

How many different combinations of outcomes 
can you make by rolling three standard (6‐
sided) dice if the order of the dice does not 
matter?

The three‐dice combinations fall into 3 categories of outcomes:
1) All three dice have the same number
2) Two of the dice have the same number with the third having a different number than the pair
3) All three dice have different numbers

By calculating the number of combinations in each category, we can determine the total number of different possible outcomes by 
summing the number of possible outcomes in each category. First, let s calculate how many combinations can be made if all 3 dice have 
the same number. Since there are only 6 numbers, there are only 6 ways for all three dice to have the same number (i.e., all 1 s, or all 
2 s, etc.). Second, we can determine how many combinations can occur if only 2 of the dice have the same number. There are 6 
different ways that 2 dice can be paired (i.e., two 1 s, or two 2 s or two 3 s, etc.). For each given pair of 2 dice, the third die can be one of 
the five other numbers. (For example if two of the dice are 1 s, then the third die must have one of the 5 other numbers: 2, 3, 4, 5, or 6.) 
Therefore there are 6 x 5 = 30 combinations of outcomes that involve 2 dice with the same number. Third, determine how many 
combinations can occur if all three dice have different numbers. Think of choosing three of the 6 items (each of the numbers) to fill 
three "slots." For the first slot, we can choose from 6 possible items. For the second slot, we can choose from the 5 remaining items. For 
the third slot, we can choose from the 4 remaining items. Hence, there are 6 x 5 x 4 = 120 ways to fill the three slots. However, we do 
not care about the order of the items, so permutations like {1,2,5}, {5, 2, 1}, {2, 5, 1}, {2, 1, 5}, {5, 1, 2}, and {1, 5, 2} are all considered to 
be the same result. There are 3! = 6 ways that each group of three numbers can be ordered, so we must divide 120 by 6 in order to 
obtain the number of combinations where order does not matter (every 1 combination has 6 equivalent permutations). Thus, there are 
120/6 combinations where all dice have different numbers. The total number of combinations is the sum of those in each category or 6 
+ 30 + 20 = 56

SOLVING COMBINATORICS PROBLEMS – ADVANCED STRATEGIES 

How many ways are there to split a group of 6 boys into 
two groups of 3 boys each? (The order of the groups does 
not matter)

Out of 6 boys, you can choose 3 in 6C3 ways and make the first group. The second group is of the remaining 3 boys. But when 
you do that, you have ordered the groups into first and second. The question mentions that the order of the groups does not 
matter. Hence, you need to divide your answer i.e. 6C3 by 2! to undo the ordering of the groups.  That is, 6C3 gives you 20 
ways. This includes: 
G1 ‐ ABC and G2 ‐ DEF
G1 ‐ DEF and G2 ‐ ABC
As two different ways but it is actually just one way because there is no G1 and G2. In both the cases, the two groups are ABC 
and DEF. Therefore, answer will be 20/2! = 10

A group of 8 friends want to play doubles tennis. How 
many different ways can the group be divided into 4 
teams of 2 people?

Formula = The number of ways in which MN different items can be divided equally into M groups, each containing N objects 
and the order of the groups is not important is (mn)!/n^m*m!

so its 8!/(2^4*4!) = 105

A certain restaurant offers 6 kinds of cheese and 2 kinds 
of fruits for its dessert platter. If each dessert platter 
contains an equal number of kinds of cheese and kinds of 
fruit, how many different desert platters could the 
restaurant offer?

1 of each: 1 fruit * 1 cheese = 2 * 6 = 12 possibilities
2 of each: Well, you only have 2 fruits, so only one choice here. With 6 cheese, and 2 places, where order does not matter, 
you get 6!/(6‐2)!2! = 6!/4!2 = 6*5/2 = 15

So 15 + 12 = 27 total possible platters

Two couples and one single person are seated at random 
in a row of five chairs. What is the probability that neither 
of the couples sits together in adjacent chairs?

Outcomes of couple A sitting  together: 2*4!, outcomes of couple B sitting together: 2*4!, but we must deduct the possibility
the 2 couples sitting together: 3!*2!*2!
So outcomes of at least one couple sitting together= 48+48‐24=72
Outcomes of no couple sitting together: 5!‐72=48
possibility of no couple sitting together: 48/5!=2/5 

In how many different ways can the letters 
A,A,B,B,B,C,D,E be arranged if the letter C must be to the 
right of the letter D?
A.1680
B.2160
C.2520
D.3240
E.3360

We have 8 letters out of which A appears twice and B appears three time. Total number of permutation of these letters 
(without restriction) would be: 8! / 2! 3! 

Now, in half of these cases D will be to the right of C and in half of these cases to the left, hence the final answer would be 
3360/2 = 1680

How many ways can you arrange 30 people on a ferris
wheel with 30 seats? 

29! since it is a circular permutation

How many ways can you arrange 5 people on a ferris
wheel with 6 seats? 

5! Because it is a circular permutation of essentially 6 things ‐ 5 people and one empty seat and there are (n‐1)! circular 
permutations of n things. Here n = 6. If there were 4 people and 2 empty seats the answer would not be 5! any longer since 
the 4 people are different, but the 2 empty seats are indistinguishable. For example, let a, b, c, and d be the 4 people and e1 
and e2 be the empty seats. There is no real difference between a b c d e1 e2 and a b c d e2 e1, but if you gave the answer (6‐
1)! = 5! you would count these identical permutations twice. The answer for this situation would be 5!/2! = 5*4*3 = 60

















INSCRIBED AND CIRCUMSCRIBED TRIANGLES  AND CIRCLES

• A right triangle inscribed in a semi‐ circle must have its hypotenuse as the diameter of the circle. The reverse 
is also true: if the diameter of the circle is also the triangle’s hypotenuse, then that triangle is a right triangle

EXAMPLES 

What is the perimeter of right 
triangle ABC?
(1) AB = 5
(2) AC = 5√2

Statement (1): We can't know the perimeter just by 
knowing one side of the right triangle. Not Sufficient
Statement (2): We can't know the perimeter just by 
knowing one side of the right triangle. Not Sufficient

Combining both – if AC is the hypotenuse, then the 
perimeter is 10 + 5√2. However, if BC is the hypotenuse, 
then the perimeter is 5 + 5√2 + 5√3

Insufficient – E 















CO‐ORDINATE GEOMETRY – 4

PERPENDICULAR BISECTORS
The perpendicular bisector of a line segment forms a 90° angle with the segment and divides the segment exactly in HALF. The key to solving perpendicular 
bisector problems is remembering this property: the perpendicular bisector has the negative reciprocal slope of the line segment it bisects. That is, the 
product of the two slopes is ‐1 (the only exception occurs when one line is horizontal and the other line is vertical, since vertical lines have undefined slopes)
‐ Example: If the coordinates of point A are (2, 2) and the coordinates of point B are (0, ‐2), what is the equation of the perpendicular bisector of line 

segment AB?
‐ Slope of AB is 2 
‐ Slope of the perpendicular bisector is – (1/2)
‐ Now we know that the equation of the perpendicular bisector has the following form: y = (‐1/2)x + b. However, we still need to find the value of b To do 

this, we will need to find one point on the perpendicular bisector
‐ The perpendicular bisector passes through the midpoint of AB. Thus, if we find the midpoint of AB, we will have found a point on the perpendicular 

bisector. The x co‐ordinate of the perpendicular bisector will be the average of the x co‐ordinates of A and B. Similarly, the y co‐ordinate of the 
perpendicular bisector of AB will be the average of the y co‐ordinates of A and B. 

‐ Plug in the values of x (1) and y (0) to get b = 1/2 

INTERSECTION OF TWO LINES
‐ Recall that a line in the coordinate plane is defined by a linear equation relating x and y. That is, if a point (x, y) lies on the line, then those values of x and y 

satisfy the equation. For instance, the point (3, 2) lies on the line defined by the equation y = 4x ‐ 10, since the equation is true when we plug in x = 3 and y 
= 2. On the other hand, the point (7, 5) does not lie on that line, because the equation is false when we plug in x = 7 and y = 5

‐ So, what does it mean when two lines intersect in the coordinate plane? It means that at the point of intersection, BOTH equations representing the lines 
are true. That is, the pair of numbers (x, y) that represents the point of intersection solves BOTH equations. Finding this point of intersection is equivalent 
to solving a system of two linear equations

‐ Example: At what point does the line represented by y = 4x ‐ 10 intersect the line represented by 2x + 3y = 26?
‐ Solving the equations simultaneously, we get x=4 and y=6 
‐ Therefore, the point of intersection is (4,6)
‐ If two lines in a plane do not intersect, then the lines are parallel. If this is the case, there is NO pair of numbers (x, y) that satisfies both equations at the 

same time
‐ The two equations/lines in a plane may also represent the same line. In this case, infinitely many points (x, y) along the line satisfy the two equations 

(which must actually be the same equation in two disguises)

The coordinates of the point P(x, y) which divides the line segment joining the points A(x1, y1) and B(x2, y2), internally, in the ratio m:n are (nx1 + mx2)/m+n
and (ny1 + my2)/m+n

ADVANCED CONCEPTS 

EQUATION OF A CIRCLE 
‐ The equation of a circle with centre (h, k) and radius r is (x – h)2 + (y – k)2 = r2

‐ The equation of a circle with centre (0, 0) and radius r is x2 + y2 = r2

In the coordinate plane, a circle has center (2, ‐3) and passes through the point (5, 0).  What is the area of the circle?
 (5 – 2)2 + (0 – (‐3))2 = r2

 (3)2 + (3)2 = r2

 18 = r2

 Therefore, area = 18 π

Find the equation of a circle whose center is at (4, 2) and is tangent to y‐axis
 Since the circle is tangent to y‐axis, the radius of the circle is perpendicular to y‐axis. It also means that the length of the radius is also the length of the 

perpendicular segment from the center of the circle to y –axis. The point of tangency is at (0, 2). To find the length of the radius, use the distance formula:
 (0 – 4)2 + (2 – 2)2 = r2

 r = 4

Write the equation of the circle with the given condition: (10, 8) and (4, ‐2) are the endpoints of the diameter
 In a circle, the radius is one‐half of the diameter. Since the given are the endpoints of the diameter, the center of the circle is the midpoint of the diameter
 (h,k) = [(10+4)/2, (8‐2)/2)]  (7,3)
 The next step is to get the length of the radius. Since radius is one‐half of the circle, it will equal the distance from the center to any one end point of the 

diameter: (10 – 7)2 + (8 – 3)2 = r2  r = root 34 
 Equation = (x – 7)2 + (y – 3)2 = 34

What is the radius for the following – Circle tangent to the line 3x – 4y = 24 with center at (1, 0) 
 The radius of the circle is equal to the distance of the center (1, 0) from the line 3x – 4y = 24
 To find the distance/radius from a point to a line, we use the formula: d = Ax + By + C / ‐ √(A2 + B2 ), where A and B are the coefficients of x and y, and C is 

the constant in the equation of line. X and y are co‐ordinates of the point 
 Therefore, A = 3, B = ‐4 and C = ‐24, x = 1, y = 0
 Radius = 21/5 



ADVANCED CONCEPTS 

PARABOLAS

The equation y = Ax2 + Bx + C is the equation of the quadratic graph which is a parabola with axis 
parallel to y axis
‐ C is the y intercept (i.e., the value of y when x is 0)

If A > 0, the parabola opens upwards. If A < 0, the parabola opens downwards

‐ If B2 > 4AC, the parabola cuts the x‐axis at 2 different points
‐ If B2 = 4AC, the parabola touches the x‐axis at one point (the two points become co‐incident)
‐ If B2 < 4AC, the parabola does not cut the x‐axis at all

The vertex of a parabola represents the maximum or minimum value of the function. The vertex 
is located at point (‐b/2a, c – (b2/4a))

Examples 

In the xy‐plane, does the line with equation y = 
3x+2 contain the point (r,s) ?

1) (3r+2‐s)(4r+9‐s) = 0
2) (4r‐6‐s)(3r+2‐s)=0

Line with equation y = 3x + 2  contains the point ( r, s ) means that when substituting r and s  in line equation: s = 3r + 2 (or 
3r +2 ‐ s = 0) holds true 
(1) Insufficient. Either (3r+2‐s) = 0 OR (4r+9‐s) = 0 or BOTH
(2) Insufficient. Either (3r+2‐s) = 0 OR (4r‐6‐s) = 0 or BOTH

(1)+ (2) Both 4r+9‐s = 0 and 4r‐6‐s = 0 cannot be true, hence  (3r+2‐s) = 0 must be true. Sufficient

Does Line S intersect line segment QR  Q 
(1,3) and R (2,2) 
(1) The equation of the line S is y = ‐x + 4 
(2) The slope of line S is ‐1 

Lines are said to intersect if they share one or more points. The slope of a line is the change in y divided by the change in x, 
or rise/run. The slope of line segment QR is (3 – 2)/(1 – 2) = 1/‐1 = ‐1
(1) SUFFICIENT: The equation of line S is given in y = mx + b format, where m is the slope and b is the y‐intercept. The slope 
of line S is therefore ‐1, the same as the slope of line segment QR. Line S and line segment QR are parallel, so they will not 
intersect unless line S passes through both Q and R, and thus the entire segment. To determine whether line S passes 
through QR, plug the coordinates of Q and R into the equation of line S. If they satisfy the equation, then QR lies on line S. 

Point Q is (1, 3): 
y = ‐x + 4 = ‐1 + 4 = 3 
Point Q is on line S. 

Point R is (2, 2): 
y = ‐x + 4 = ‐2 + 4 = 2 
Point R is on line S. 
Line segment QR lies on line S, so they share many points. Therefore, the answer is "yes," Line S intersects line segment 
QR. 

(2) INSUFFICIENT: Line S has the same slope as line segment QR, so they are parallel. They might intersect; for example, if 
Line S passes through points Q and R. But they might never intersect; for example, if Line S passes above or below line 
segment QR.

Does the equation y = (x – p)(x‐q) intercept the 
x‐axis at the point (2,0)?
(1) pq = ‐8 
(2) ‐ 2 – p = 8

At the point where a curve intercepts the x‐axis (i.e. the x intercept), the y value is equal to 0. If we plug y = 0 in the 
equation of the curve, we get 0 = (x – p)(x – q). This product would only be zero when x is equal to p or q. The question is 
asking us if (2, 0) is an x‐intercept, so it is really asking us if either p or q is equal to 2.

(1) INSUFFICIENT: We can t find the value of p or q from this equation.

(2) INSUFFICIENT: We can t find the value of p or q from this equation.

(1) AND (2) SUFFICIENT: Together we have enough information to see if either p or q is equal to 2. To solve the two 
simultaneous equations, we can plug the p‐value from the first equation, p = ‐8/q, into the second equation, to come up 
with ‐2 + 8/q = q.
This simplifies to q2 + 2q – 8 = 0, which can be factored (q + 4)(q – 2) = 0, so q = 2, ‐4. 
If q = 2, p = ‐4 and if q = ‐4, p =2. Either way either p or q is equal to 2. 





MENTAL MATH / SHORT CUTS 

Multiplying two digit numbers Break each number down into two components, representing each digit. For instance, 21 = 20 + 1, or 97 = 90 + 7

Let's apply the FOIL method to help us find the square of 21, a calculation that comes up occasionally on GMAT questions. 
21^2 
= (20 + 1)(20 + 1) 
= 400 + 20 + 20 + 1 
= 441 

Divide and Multiply by Five ... Fast For both division and multiplication, the key concept here is that 5 is simply 10 divided by 2. So, anywhere you see a 5 in 
an equation, you can substitute (10/2).  For example 77 * 5 would be (77*10)/2  770/2

Percentages Break down every number that s asked into questions of 100
‐ For example 8% of 300 would be (8% of 100) + (8% of 100) +  (8% of 100) 
‐ 8% of 25 would be 8% of 100 / 4 


